COE 202, Term 131
Digital Logic Design
Assignment# 2 Solution
Due date: Thursday Nov. 28
Q.1. It is required to design a circuit that receives a 4-bit number A=A3A,A1A, and produces 7-

bit output C= C;CsC5C4C3C,C1Co. The circuit implements the following functions based on
the values of the two selection inputs: S1 and SO.

S1S0 Function
00 C=2*A
01 C=3*A
10 C=4*A
11 C=5*A

Q) Show the block diagram design of your circuit using MSI components like Adder,
Multiplexor, as needed.
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(i) Model your design in logic works.
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(ili)  Test your design and verify its correctness by simulation. Show snapshots of your
simulation to demonstrate its correctness. For each function, test at least 2 input
combinations of your choice to demonstrate correct functionality.

FE=C F==0
o= al FEeo
©
© —
knr. @ thu
+

BS |—

— - wmn_s 1 | Eescccwson-o |00 kecu-cosoaoo
_ o & L L 29 _ DD OOO O == === 50 —a DO MO oM=< = ==C =T g1 0
gl 50 -0 s -0 ) 5|50, . [ —
x1mux6bit -1 2x1mux6bit -1 2x1mux6bit -1 2x1mux6bit
SXESrE SXEfrE EISErE ZEREES

mmmmmm




-0
-1

Il
o B
() HD_
o ;
[ _
| | T — o
— [ “ +—| ov
| | 5 o
! - 503 — oy = - -
—| ov ! W BV Aa— v 2 0A N
— oo
w8 Bo PR LA
_ SEEE ) = g _ g
3 T 86 Y 8—% v 804 N e |k LN
_ g Y B t— oa Eca
e Lk , R E
5 nLze +— ov 3 24 =% S0
S ey 3 o AR S g
| & — 8 & ra a
e L—za & ¢
78 & @ mm
L—|¢ca —
5
-
(I
o y
1 o
J Q.u_
ﬂ -
® ;_ﬁg
[
,__ﬁoq .
! _E | ov v’m«bg
t v g — v R 1A
o a ey 8ok — g
W g P v R LA 2o
b—| vv R LA v 2
t—| ov 3 zA ey 2k 0w ED
{08 Ecx 63 £ 54 i %0
|18 %A 1 mm
{78 & 5A 8 f
£g o P vo
t—]| va |v|mm —|
o
]
& ¥
o ' y_
_J, 1u_ |
1”_ ,:‘
) ’ _ -y
; ) = El iy = 41,‘
e 503 =
EE B VS T 35Wa ey 2 oA
1 Iy oo 0 d | fy 8 g N sve : BV g 0
EEER] Zy = = TEva &y 8 00 g
A = wen nie Mo ev 5an — 08 EcA
ico _ R 1A olz¢t ey 3o ShEd
A t— oy 3 zA oz Ein . BE
t—|oa Eex HiExn = . —
— 8 & vA = . ‘qm
L—lza & oA cg a0 |mm
e ] mm
g
L] -
[y}
T '
o § .&_
1) N
- Gl 1
a_ .
;_HHm_q
@ ,__HHg. i
JH Iy A
__.|g< L 1& & — v 8 0A
i e —| by % LA
- b— v R LA -
w e t— sy 3 A v|am g
| Y WS sy 2o _m..m;
t—|sv 22k 6 £ ¢ R
0a E e
x 78 N GA a
18 R A
78 N 5o g ca
v - | ea
t—| 8 |28
—ca
—
o N
— S
o




